

المناقصة المرقمة (SUP 96/2025/51)

- شركة البيان .

#	National Code Reference	Globan Code	Description	Pack	Qty in Packs	Qty in Pieces	Unit Price / Piece USD	Total Price USD
1	RAD-DE00-015	87622460	SOLARIS,KIT,SYR,MRI, 65/115ML,MC,CORE Catalogue Number: SSQK 65/115VS Previously globan 86594218	50 PCS / Pack	210	10,500	18	189,000
2	RAD-DE00-016	86698226	STLNT,KIT,SYR,CT,SNG L,60",QFT,MC,WLD Catalogue Number: SSS-CTP-QFT	50 PCS / Pack	449	22,450	18	404,100
3	RAD-DE19-A017	86645300	ASSY,TUBE SET,SOLARIS,96",MC, WLD Catalogue Number: SSIT 96VLD	50 PCS / Pack	568	28,400	7	198,800
Grand Total of Offer in USD								791,900

- شركة الطائر الأزرق للمستلزمات الطبية -

1		2		3	4	5	6
National Code	Seller Code	Product	Unit Pack Size	Quantity of freed & Physical Unit	Country of Origin	CIP Price (USD)	CIP Total Price (USD)
RAD-DE21-050	FF.HOOK	ALN Optional Vena Cava Filter with HOOK (Femoral Kit)	PCS	270	France	950	256,500
	FJ.HOOK	ALN Optional Vena Cava Filter with HOOK (Jugular Kit)					
	FB.HOOK	ALN Optional Vena Cava Filter with HOOK (Brachial Kit)					
	FP.HOOK	ALN Optional Vena Cava Filter with HOOK (Popliteal Kit)					
RAD-DE21-060	ACRENALXF1100	Point Curve Angiographic Catheter Renal 4,5,6,7Fr length 100cm	PCS	100	China	18	1,800
RAD-DE21-062	YCK118A	Y-Connector only (Push-Pull)	PCS	103	China	4.4	453
RAD-DE21-065	SNXX	Seldinger Needle G18 Or G21 length 70mm with wings or without wings	PCS	60	China	1.35	81
RAD-DE21-069	YCK114	Insertion Tool Only			China	1.45	141

RAD-DE21-099	PNOV-21-150	pNOVUS 21 Micro Catheter length 150cm	PCS	140	Ireland	500	70,000
RAD-DE21-105	ACSIMXXF110	Point Curve Angiographic Catheter Simmons1,2,3 4,5,6,7Fr length 100cm	PCS	101	China	25	2,525
RAD-DE24-112	PRES-X-XX	pRESET Thrombectomy Device Compatible with 0.021" Micro Catheter Diameter x length (4x20mm, 6x30mm, 5x40mm, 6x50mm)	PCS	120	Germany	3,500	420,000
	PRES-LT-X-XX	Preset LITE Thrombectomy Device Compatible with 0.017" Micro Catheter Diameter x length (3X20, 4X20)					
RAD-DE24-114	BG8F095	Paragon Balloon Guide Catheter 8.3F, I.D 0.087" length 95cm	PCS	100	China	1,250	125,000
RAD-DE24-115	PHLO-AC-71- 135-02	Esperance pHLO Neurovascular Aspiration Catheter 6F Inner Diameter 0.071" length 135cm	PCS	20	Ireland	1,800	36,000
RAD-DE24-116	SH6FXXST	Pilote 6F, I.D 0.088, length 80,90,100cm straight	PCS	170	China	500	85,000
	SH6FXXMP	Pilote 6F, I.D 0.088, length 80,90,100cm MP					
Total		Nine hundred Ninety-Seven Thousand and Five Hundred US dollars					997,500

- شركة حسن السيوف -

1		2		3	4	5	6
National Code	Seller Code	Product	Unit Pack Size	Quantity of freed & Physical Unit	Country of Origin	CIP Unit Price (USD)	CIP Total Price (USD)
CAT-DE21-050	352506070E	OPTION ELITE RETRIEVABLE VENA CAVA FILTER (IVC FILTER)	Pcs	11	USA	850	9,350
Total		Nine thousand and Three hundred Fifty US dollar				9,350	

- شركة فريج للتجهيزات الطبية .

1		2		3	4	5	6
National Code	Seller Code	Product	Unit Pack Size	Quantity of freed & Physical Unit	Country of Origin	CIP Price (USD)	CIP Total Price (USD)
RAD-DE21-086	MC1721505	Headway 17 microcatheter: Catheter 1.8fr	1	10	Costa Rica or USA	330	3,300
RAD-DE24-112	ER17xxxx	ERIC: Ischemic Stroke thrombus aspiration stent device	1	10	Costa Rica or USA	2,600	26,000
RAD-DE24-113	ISC511.5ST	Sofia Ex 6fr: Cerebral intermediate catheter	1	10	Costa Rica or USA	730	7,300
RAD-DE24-114	BOB-895	Bobby: Balloon Guiding Catheter	1	10	Costa Rica or USA	1,500	15,000
RAD-DE24-115	DA6223ST	Sofia Plus 9fr: Cerebral aspiration catheter	1	10	Costa Rica or USA	1,300	13,000
RAD-DE24-116	GCxxxST	Chaperon : Carotid guiding cathetr	1	10	Costa Rica or Japan	140	1,400
RAD-DE24-117	BCOxxxC	Scepter C: Intra-Cranial remodeling balloon	1	10	Costa Rica or USA	800	8,000
Total		Seventy Three thousands US Dollars				USD73,000.00	

- شركة فارما .

1		2		3	4	5					6
National Code (a)	Seller Code (b)	Brief Description of Goods		Quantity Offered & Physical Unit	Country of Origin	Price per physical unit (Bidder may permissible Currency)					Total Price on DDP/Free Delivery at End-user, site.(US Dollar) 3x5(d)
		Product (a)	Unit Pack Size (b)			CIP price per unit	CIP price per pack (Bidder may insert place of destination) (a)	DDP at End-user, site (b)	Incidental services as defined in schedule of Requirement (c)	DDP at End-user, site & Incidental Series (d) =((b)+(c))	
<p><i>Handwritten:</i> 1-9/8/2017</p> <p><i>Handwritten:</i> Kimadia's Description: Thermal paper for Thermal processor (ultrasound for machiens) upp - 110 S (110mm x 20m)</p>											
RAD-DE00-031	SUPER ULSTAR-1100S	Pharmall Offer: SUPER ULSTAR-1100S Thermal Paper for Video Printer 110mm x 20m	Roll x 20m	20423	South Korea	USD 5,24	USD 5,24	N/A	FOC	USD 5,24	USD 107.016,52
<p><i>Handwritten:</i> Kimadia's Description: Cerebral aspiration catheter</p>											
RAD-DE24-115	5F-115	Pharmall Offer: GLUTTON™ Aspiration Catheter 5F, ID 0.058", OD 0.070", working length 115cm.	Pcs	632	China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00	USD 559.320,00
	5F-125	GLUTTON™ Aspiration Catheter 5F, ID 0.058", OD 0.070", working length 125cm.	Pcs		China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00	
	5F-132	GLUTTON™ Aspiration Catheter 5F, ID 0.058", OD 0.070", working length 132cm.	Pcs		China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00	
	6F-115BGC	GLUTTON™ Aspiration Catheter 6F, ID 0.070", OD 0.082", working length 115cm.	Pcs		China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00	
	6F-125BGC	GLUTTON™ Aspiration Catheter 6F, ID 0.070", OD 0.082", working length 125cm.	Pcs		China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00	

6F-132BGC	GLUTTON™ Aspiration Catheter 6F, ID 0.070", OD 0.082", working length 132cm.	Pcs	China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00
6F-115S	GLUTTON™ Aspiration Catheter 6F, ID 0.073", OD 0.085", working length 115cm.	Pcs	China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00
6F-125S	GLUTTON™ Aspiration Catheter 6F, ID 0.073", OD 0.085", working length 125cm.	Pcs	China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00
6F-132S	GLUTTON™ Aspiration Catheter 6F, ID 0.073", OD 0.085", working length 132cm.	Pcs	China	USD 885,00	USD 885,00	N/A	FOC	USD 885,00

Grand Total Bid price: USD 666.336,52 - US Dollars Six Hundred Sixty-Six Thousand Three Hundred Thirty-Six and Fifty-Two Cents Only.

.TJWY MEDICAL -

1			2		3	4	5			6	
Kimadia Code (a)	Code (b)	Item # (c)	Brief Description of goods		QTY offered	Country of Origin	Price per Unit			Total Price DDP 3x5(d)	
			Product Name & Description	Unit			CIP Price (a)	DDP at End User price (b)	Incid enta l servi ce (c.)		DDP at End User + Incidental Services (d)=(b)+(c)
RAD-DE21-099	TJMC10		Kimadia Description: catheter 1.8 fr TJWY Description: Frepass® Micro Catheter 1.8Fr	1 PC	50 Pcs	China	\$220.15	-	-	\$220.15	\$11,007.50

1			2		3	4	5			6	
Kimadia Code (a)	Code (b)	Item # (c)	Brief Description of goods		QTY offered	Country of Origin	Price per Unit			Total Price DDP 3x5(d)	
			Product Name & Description	Unit			CIP Price (a)	DDP at End User price (b)	Incid enta l servi ce (c.)		DDP at End User + Incidental Services (d)=(b)+(c)
RAD-DE24-113	TJICXX-XXX		Kimadia Description: Cerebral intermediate Catheter TJWY Description: Freble™ Disposable Intermediate Catheter	1 PC	50 Pcs	China	\$353.45	-	-	\$353.45	\$17,672.50

1			2		3	4	5			6	
Kimadia Code (a)	Code (b)	Item # (c)	Brief Description of goods		QTY offered	Country of Origin	Price per Unit			Total Price DDP 3x5(d)	
			Product Name & Description	Unit			CIP Price (a)	DDP at End User price (b)	Incid enta l servi ce (c).		DDP at End User + Incidental Services (d)=(b)+(c)
RAD-DE24-114	TJBGXX-XXX		Kimadia Description: Balloon guiding Catheter TJWY Description: Globefish™ Balloon Guided Catheter	1 PC	20 Pcs	China	\$750.30	-	-	\$750.30	\$15,006.00

1			2		3	4	5			6	
Kimadia Code (a)	Code (b)	Item # (c)	Brief Description of goods		QTY offered	Country of Origin	Price per Unit			Total Price DDP 3x5(d)	
			Product Name & Description	Unit			CIP Price (a)	DDP at End User price (b)	Incid enta l servi ce (c).		DDP at End User + Incidental Services (d)=(b)+(c)
RAD-DE24-115	TJASXX-XXX		Kimadia Description: Cerebral aspiration catheter TJWY Description: Leechor® Thrombus Aspiration Catheter + FOC Staspir™ Negative Pressure Suction Pump as detailed below.	1 PC	20 Pcs	China	\$823.20	-	-	\$823.20	\$16,464.00

1		2		3	4	5			6		
Kimadia Code (a)	Code (b)	Item # (c)	Brief Description of goods		QTY offered	Country of Origin	Price per Unit			Total Price DDP 3x5(d)	
			Product Name & Description	Unit			CIP Price (a)	DDP at End User price (b)	Incidental service (c)		DDP at End User + Incidental Services (d)=(b)+(c)
RAD-DE24-116	TJDCSXXXXXX		Kimadia Description: Carotid guiding catheter TJWY Description: Greenway™ Delivery Catheter	1 PC	50 Pcs	China	\$349.70	-	-	\$349.70	\$17,485.00

Product Specifications:

The delivery catheter is a single-use sterile medical device consisting of its accessories, including a dilator Y-connector, hemostasis valve adaptor, and a shaping needle. The delivery catheter is composed of a catheter body, hub and a strain relief tube. The distal end of the catheter is equipped with a radiopaque mark, and the outer surface of the distal end is coated with a hydrophilic coating.



Handwritten signature in blue ink: احمد هاشم خضير
 5/9/19

Handwritten signature in blue ink: مدير حسابات
 رجا كريم احمد
 5/9/19



Available in Different Sizes. Please Refer to Table

We confirm ability to provide the whole tendered QTY

Total: Seventy-Seven Thousand, Six Hundred & Thirty-Five US Dollars

\$77,635.00

.Hawra Scientific Office -

Kimadia Code	1		2			3	4	5				6
	BDI Code (b)	Item #	Brief Description of goods			QTY (PCS)	Origin	Price per Unit				Total Price 3x5(d)
			Product Name	Unit size	CIP Price / 1 PC (a)			DDP at End User price (b)	Incidental service (c)	DDP at End User + Incidental Services (d)=(b)+(c)		
RAD-DE21-050	DL950J	1	IVC Filter	Denali™ Vena Cava Filter Jugular Delivery Kit	Pcs	10	USA	1,056.8	-	-	-	10,568.00
	DL950F	alt		Denali™ Vena Cava Filter Femoral Delivery Kit	Pcs		USA	1,056.8	-	-	-	-
Total: \$10,568.00 CIP Kimadia Warehouse Ten thousand five hundred sixty-eight dollars only											\$10,568.00	

Disclaimer: We herein confirm our full ability to procure any quantity might be requested in future contract.

Total: \$10,568.00 CIP Kimadia Warehouse
Ten thousand five hundred sixty-eight dollars only.



- شركة Cordis.

No.	National Code	Cordis Item Code	Cordis Description	COO	Total Shelf Life (months)	Cordis Unit of Sale	No. of Each per Box	Total Quantity	Unit Price (Each) in US \$	Total Price US \$
1	RAD-DE19-041	4244530W	AVIATOR PLUS .014 4.5X30 142CM	Costa Rica	36	Box	1	195	170.00	33,150.00
2	RAD-DE21-050	466F210AF	OPTease VC FILTER OUS, 55CM	Mexico	36	Box	1	297	1,000.00	297,000.00
3	RAD-DE21-060	451547S0	CATH TEMPO 5F RDC A1 80CM	Mexico	36	Box	5	1,274	40.00	50,960.00
4	RAD-DE21-061	451455V0	CATH TEMPO 4F RC 1 65CM	Mexico	36	Box	5	302	41.00	12,382.00
5	RAD-DE21-105	532501	CATH ST 5F SIM 1 100CM	Mexico	36	Box	5	1,088	60.00	65,280.00
CIP Baghdad in US Dollar \$										458,772.00

- مكتب الرصافي العلمي -

1			2		3	4	5					6
National Code	Company Code	Generic Name	Brief Description		Qty Offered	Country of Origin	Unit Price					Total price on CIP/ Free Delivery at End-users'
			Goods	UOM			[Bidder may insert permissible Currency]					
Product						DDP Price Per Unit	CIP Price Per Unit	Currency	Incidental services as defined in schedules of requirement	DDP Price / End Users with emergency services		
RAD-DE21-060	4653SRC	renal catheter (different size)	.Impress®.Braided.4F.65 cm.RENAL DOUBLE CURVE..0 Side Ports.0.035" (0.89 mm)	PCS	1274	USA/MEXICO	N/A	\$ 35	USD	N/A	N/A	\$ 44,590.00
RAD-DE21-062	MAP150	Y adapter for PTCA (tough)	Hemostasis Valve.AccessPLUS™..Large Bore.....Sterile.	PCS	7267	USA/MEXICO	N/A	\$ 7	USD	N/A	N/A	\$ 50,869.00
RAD-DE21-065	AD18T71WS	seldinger needle (different size)	Needle.Merit Advance®.One Wall.18G.7.0 cm.2 3/4".Seldinger Shield.Smooth.Pink.	PCS	5432	USA/MEXICO	N/A	\$ 3	USD	N/A	N/A	\$ 15,209.60
RAD-DE21-069	MAP550	insertion device	Wire Insertion Tool.....Metal Insertion Tool..Sterile.	PCS	4122	USA/MEXICO	N/A	\$ 3	USD	N/A	N/A	\$ 11,129.40

1			2		3	4	5					6
National Code	Company Code	Generic Name	Brief Description		Qty Offered	Country of Origin	Unit Price					Total price on CIP/ Free Delivery at End-users'
			Goods				[Bidder may insert permissible Currency]					
			Product	UOM			DDP Price Per Unit	CIP Price Per Unit	Currency	Incidental services as defined in schedules of requirement	DDP Price / End Users with emergency services	
RAD-DE21-099	28HC171105T	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 110cm , standard curve /staright	PCS	1542	USA	N/A	\$ 500	USD	N/A	N/A	\$ 771,000.00
Option 1	28HC171305T	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 130cm , standard curve /staright	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 2	28HC171505T	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 150cm , standard curve /staright	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 3	28HC1711045	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 110cm , 45 Degree	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 4	28HC1713045	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 130cm , 45 Degree	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 5	28HC1715045	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 150cm , 45 Degree	PCS		USA	N/A	\$ 500	USD	N/A	N/A	

1		2		3	4	5					6	
National Code	Company Code	Generic Name	Brief Description		Qty Offered	Country of Origin	Unit Price					Total price on CIP/ Free Delivery at End-users'
			Goods				[Bidder may insert permissible Currency]					
		Product	UOM			DDP Price Per Unit	CIP Price Per Unit	Currency	Incidental services as defined in schedules of requirement	DDP Price / End Users with emergency services		
Option 6	28HC17110SN	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 110cm , Swan	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 7	28HC17130SN	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 130cm , Swan	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 8	28HC17150SN	catheter 1.8 fr	Pursue Catheter 2.8-1.7F , 150cm , Swan	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 9	29HC20110ST	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 110cm , standard curve /staright	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 10	29HC20130ST	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 130cm , standard curve /staright	PCS		USA	N/A	\$ 500	USD	N/A	N/A	
Option 11	29HC20150ST	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 150cm , standard curve /staright	PCS		USA	N/A	\$ 500	USD	N/A	N/A	

1			2		3	4	5					6
National Code	Company Code	Generic Name	Brief Description		Qty Offered	Country of Origin	Unit Price					Total price on CIP / Free Delivery at End-users'
			Goods	Product			UOM	[Bidder may insert permissible Currency]				
							DDP Price Per Unit	CIP Price Per Unit	Currency	Incidental services as defined in schedules of requirement	DDP Price / End Users with emergency services	
Option 12	29HC2011045	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 110cm , 45 Degree		PCS	USA	N/A	\$ 500	USD	N/A	N/A	
Option 13	29HC2013045	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 130cm , 45 Degree		PCS	USA	N/A	\$ 500	USD	N/A	N/A	
Option 14	29HC2015045	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 150cm , 45 Degree		PCS	USA	N/A	\$ 500	USD	N/A	N/A	
Option 15	29HC201105N	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 110cm , Swan		PCS	USA	N/A	\$ 500	USD	N/A	N/A	
Option 16	29HC201305N	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 130cm , Swan		PCS	USA	N/A	\$ 500	USD	N/A	N/A	
Option 17	29HC201505N	catheter 1.8 fr	Pursue Catheter 2.9-2.0F , 150cm , Swan		PCS	USA	N/A	\$ 500	USD	N/A	N/A	

1			2		3	4	5					6
National Code	Company Code	Generic Name	Brief Description		Qty Offered	Country of Origin	Unit Price					Total price on CIP/ Free Delivery at End-users'
			Goods				[Bidder may insert permissible Currency]					
			Product	UOM			DDP Price Per Unit	CIP Price Per Unit	Currency	Incidental services as defined in schedules of requirement	DDP Price / End Users with emergency services	
RAD-DE21-105	510038SIM1	simmon catheter (different size)	.Impress®.Braided.5F.100 cm.SIMMONS 1..0 Side Ports.0.038" (0.97 mm)	PCS	1088	USA/MEXICO	N/A	\$ 45	USD	N/A	N/A	\$ 48,960.00
Option1	510038SIM2	simmon catheter (different size)	.Impress®.Braided.5F.100 cm.SIMMONS 2..0 Side Ports.0.038" (0.97 mm)	PCS		USA/MEXICO	N/A	\$ 45	USD	N/A	N/A	
Option2	410038SIM1	simmon catheter (different size)	.Impress®.Braided.4F.100 cm.SIMMONS 1..0 Side Ports.0.038" (0.97 mm)	PCS		USA/MEXICO	N/A	\$ 45	USD	N/A	N/A	
Option3	410038SIM2	simmon catheter (different size)	.Impress®.Braided.4F.100 cm.SIMMONS 2..0 Side Ports.0.038" (0.97 mm)	PCS		USA/MEXICO	N/A	\$ 45	USD	N/A	N/A	

.GREEN FORREST-

الرمز الوطني	المسادة	الوحدة	الكمية	سعر الوحدة	المجموع
RAD-DE00-015	Disposable syringe set for injector for MRI examination(filling tube (1)+coiled connector tube (1)+ syringe (1)	set	5,000	\$11.00	\$55,000.00
RAD-DE00-016	Disposable syringe set for injector for CT contrast examination single(filling tube (1)+coiled connector tube (1)+ syringe (1)	set	15,000	\$12.00	\$180,000.00
RAD-DE00-030	Jell for Ultrasound examination	gallon (5L)	20,000	\$14.00	\$280,000.00
RAD-DE00-031	Thermal paper forThermal processor (ultrasound for machiens) upp - 110 S (110mm × 20m)	roll	10,000	\$6.00	\$60,000.00
RAD-DE21-062	Y adapter for PTCA (touhi)	PCS	7,267	\$5.00	\$36,335.00
RAD-DE21-065	seldinger needle (different size)	PCS	5,432	\$4.00	\$21,728.00
RAD-DE21-069	insertion device	PCS	4,122	\$4.00	\$16,488.00
RAD-DE21-092	haemostatic agents : gelfoam(sheets sterile consumable)	PCS	1,727	\$6.00	\$10,362.00
RAD-DE21-099	catheter 1.8 fr	PCS	1,000	\$300.00	\$300,000.00
Nine Hunder and Fifty Nine Thousands and Nine Hundred and Thirteen Dollars					\$959,913.00

- شركة القنوان للتجارة العامة .

National code	ITEM DESCRIPTION	UOM	QTY	Unite Price	Total Price
RAD-DE00-015	Disposable syringe set for injector for MRI examination(filling tube (1)+coiled connector tube (1)+ syringe (1)	set	9,490	\$8.81	\$83,996.90
RAD-DE00-016	Disposable syringe set for injector for CT contrast examination single(filling tube (1)+coiled connector tube (1)+ syringe (1)	set	18,435	\$8.81	\$160,847.35
RAD-DE00-030	Jell for Ultrasound examination	gallon (5L)	23,721	\$8.72	\$206,847.12
RAD-DE00-031	Thermal paper forThermal processor (ultrasound for machiens) upp - 110 S (110mm x 20m)	roll	20,423	\$4.50	\$91,903.50
RAD-DE21-099	catheter 1.8 fr	PCS	1,542	\$272.50	\$420,195.00
المجموع النهائي : فقط نصفه واثان و تسعون ألف و ثمانمائة و تسعة و ثمانون دولار و سبعة و ثمانون سنت لاغير					\$982,889.87

- شركة السار للتوريدات الطبية والمخبرية والفنية .

1		2	3	4		5				6	
New National Code	Kimadia Description	Item code	Brief Description of Goods	Quantity Offered & Physical Unit	Country of Origin	UOM	CIP Price	DDP at End-User Site	Incidental Services as Defined in Schedule of Requirement	DDP at End-user, Site & Incidental Series	Total Price on DDP, Free Delivery at End User Site/USD
RAD-DE21-099	catheter 1.8 fr	FG11150-0615-XX	CATHETER FG11150-0615-XX	1542	MX	EA	450.00	450.00		450.00	693,900.00
RAD-DE21-105	simmon catheter (different size)	105F-SIM-120	CATH RADIAL DX 105F-SIM-120 V02	1088	US	EA	170.00	170.00		170.00	184,960.00
RAD-DE24-112	Ischemic stroke thrombus aspiration stent device	SFR4-X-X0-X0	STENT SFR4-X-X0-X0 V0X	482	US	EA	3,500.00	3,500.00		3,500.00	1,687,000.00
RAD-DE24-113	Cerebral intermediate Catheter	RFXA0XX-1XX-08	RFXA0XX-1XX-08 DCS CATHETERS FG	582	US	EA	872.00	872.00		872.00	507,504.00
Alt		RFXA0XX-1XX-08MP	RFXA0XX-1XX-08MP DCS CATHETERS FG		US	EA	872.00	872.00		872.00	

RAD-DE24-114	Balloon guiding Catheter	16105XX	CELLO BALLOON GUIDE CATHETER XF	577	JP	EA	1,960.00	1,960.00	1,960.00	1,130,920.00	
RAD-DE24-115	Cerebral aspiration catheter	REACT-XX	GUIDECATHETER REACT-xx V04 MDR	632	US	EA	1,960.00	1,960.00	1,960.00	1,238,720.00	
RAD-DE24-116	Carotid guiding catheter	107F-079-XXX	SHEATH RADIAL LONG 107F-079-XXX	847	US	EA	760.00	760.00	760.00	643,720.00	
RAD-DE24-117	Intra-cranial remodelling balloon	104-4XXX	BALLOON SYSTEM 104-4XXX V19 HYPERFORM	562	US	EA	1,090.00	1,090.00	1,090.00	612,580.00	
RAD-DE24-118	Infusion catheter	410XX-01	INF CATH 410XX-01 CRAGG-MC V07 ATHLONE	840	IE	EA	109.00	109.00	109.00	91,560.00	
Grand Total of Bid Price in USD								\$6,790,864.00			
Grand Total of Bid Price in USD in Words								Six Million Seven Hundred Ninety Thousand Eight Hundred Sixty Four			

- شركة الجودة للتوريدات الطبية -

SN	KIMIADA CODE	Item	Product Name	UNIT	Quantity	Price per unit \$	Total Price \$
	RAD-DE00-030	Jell for ultersound examination	Jell for ultersound examinatin ECO GELLY Gel 5 KG	Gallon (5L)	23721	10.5	249070.5
	RAD-DE00-031	Thermal paper for thermal process (ultarsound for machines upp-110S (110mmx20m)	Thermal paper for thermal process 110X20m SONY upp110S compatible	Roll	20423	6.70 for one Roll	136834.10
Total Amount (CIP-BAGHDAD)					385904,60		
Total Amount			Three hundred Eighty five thousand, Nine hundred four and sixty cent U.S DOLLARS ONLY				

شركة .img

National Code	Code of Company	Description of Kimadia	Description Company	Origin	Unit	QTY	Unit price \$	Total Price \$
RAD-DE00-015	42.16.10010	Disposable syringe set for injector for MRI examination(filling tube (1)+coiled connector tube (1)+ syringe (1))	Disposable syringe set for injector for MRI examination(filling tube (1)+coiled connector tube (1)+ syringe (1))	China	set	10490	13	136,370
RAD-DE00-016	42.16.10002	Disposable syringe set for ingector for CT contrast examination single(filling tube (1)+coiled connector tube (1)+ syringe (1))	Disposable syringe set for ingector for CT contrast examination single(filling tube (1)+coiled connector tube (1)+ syringe (1))	China	set	22435	7.5	168,262
RAD-DE00-030	99980022	Jell for Ultrasound examination	Jell for Ultrasound examination	Spain	gallon (5L)	23721	9.5	225,349
RAD-DE00-031	1311006	Thermal paper forThermal processer (ultrasound for machiens) upp - 110 S (110mm x 20m)	Thermal paper for Thermal processer (ultrasound for machiens)	Japan	Roll	20423	11.20	228,737
Alternative								
RAD-DE00-030	9980021	Jell for Ultrasound examination	Jell for Ultrasound examination	Spain	gallon (5L)	23721	9.5	225,349
RAD-DE00-031	1311015	Thermal paper forThermal processer (ultrasound for machiens) upp - 110 S (110mm x 20m)	Thermal paper for Thermal processer (ultrasound for machiens)	Japan	Roll	20423	9.25	188,912

مدير حسابات
رحاب كريم احمد



ر.م. سيداتي اقدم
سيسى طالب حسين

Total price : 758,718 \$